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Problem 1. Solve x2 − 10x+ 7 = 0 by completing the square. Follow the given steps.

Step 0. Put it in standard form ax2 + bx+ c = 0. It already is, so just continue to Step 1.

Step 1. Divide both sides by a. Since a is already 1, just proceed to Step 2.

Step 2. Subtract c from both sides.

Step 3. Add the thing that completes the square to both sides.

Step 4. Factor the left hand side.

Step 5. Take the square root of both sides.

Step 6. Move the remaining constant to the left hand side.

Problem 2. Solve 2x2 − 16x− 6 = 0 by completing the square. Follow the given steps.

Step 0. Put it in standard form ax2 + bx+ c = 0. It already is, so just continue to Step 1.

Step 1. Divide both sides by a.

Step 2. Move the constant from the left to the right hand side.

Step 3. Add the thing that completes the square to both sides.

Step 4. Factor the left hand side.

Step 5. Take the square root of both sides.

Step 6. Move the remaining constant from the right to the left hand side.



Problem 3. Solve 3x2 − 16x− 6 = 2x by completing the square. Follow the given steps.

Step 0. Put it in standard form ax2 + bx+ c = 0.

Step 1. Divide both sides by a.

Step 2. Move the constant from the left to the right hand side.

Step 3. Add the thing that completes the square to both sides.

Step 4. Factor the left hand side.

Step 5. Take the square root of both sides.

Step 6. Move the remaining constant from the right to the left hand side.

Problem 4. Solve x2 − x− 1 = 0 by completing the square. Follow the given steps.

Step 0. Put it in standard form ax2 + bx+ c = 0.

Step 1. Divide both sides by a.

Step 2. Move the constant from the left to the right hand side.

Step 3. Add the thing that completes the square to both sides.

Step 4. Factor the left hand side.

Step 5. Take the square root of both sides.

Step 6. Move the remaining constant from the right to the left hand side.


